A (ELE) Al 3 ik JBfL

100m F3E&  1$#8(-0.3) FRIE 3 DNS
2#8(-0.5) XKHFEZF 1 12.45 5 KEV
3%(+0.6) FHAEEEKX M2 12.94 7
AfRFE—ER 1 11.73 5
5%(-1.8)  HEBEF 1 12.05 6  KFH
6%E(+0.1) EIEE M2 12.04 6
7#(-1.2)  BEEKX 3 11.66 4
8#H(-0.6)  BEBLR 2 11.59 4
200m i 148 HAERK M2 DNS
248 BER 2 DNS
3#(+0.2)  KEFMIE 3 22.59 3 q
448 BHEX 3 DNS
EEREE M2 DNS
5%E(+0.7)  HHEN 3 24.52 5 PB
64A(+1.1) AKX 2 22.74 3 q
REs  BfE(+1.4) KREFAE 3 22.54 2 PB
BARK 2 22.64 3 PB
400m ¥k 148 AR 3 50.58 2 q
ERAE 3 53.53 6 UB
218 HHEEF 1 52.61 2 KFEA
3A WARK 2 DNS
Viza A H#R 3 50.91 3
800m i 148 Meeth 2 1.59.49 2 Q
248 HEEEA 2 DNS
= Bk 2 15857 2 Q




348 SEHE M1 15832 2 Q
HAR M2 201.14 4
RS BFFHA M1 1.55.86 2
stk 2 1.56.50 6
=plic 2 156.35 4 PB
1500m St 148 =ZilbiE 4 45096 9
ST — M1 4.26.18 6
88 = 4 42136 3 Q
HEEEA 2 43466 8
248 HFE 3 42290 10  UB
H—ie 3 DNS
HHEDAT 2 4.19.68 qPB
HA% M2 4.10.43 Q UB
B 4 41490 7  gPB
RS IEEZ 4 DNS
EHIELRIT 419.73 8
HHAR M2 41189 5
88 = 4 40823 3
5000m P 148 IR 2 2 15.59.39 5 PB
SR — 1 M1  16.00.70 6
Wy O se 1 16.27.54 8 KR4
1A HEAER M2  16.28.02 9
LA 2 3 16.21.17 7
=ZilBiE 4 18.12.29 14
HHELT 2 16.30.79 10
248 =yl 2 16.16.04 12




B HM@ 2 15.38.39 9 PB
AT M1 15.21.13 4
fEFE{= 3 15.29.40 6
3 BEHFEH M1 145125 4
Mseth 15.01.70 6
EHE= 144470 3 PB
10000m PN At EI 2 34.24.44 6
BEHFEA M1 DNF
Mszlh 2 DNS
3000mSC  REs EHE= 4 10.07.09 8 PB4
i M1 9.50.09 3 PB4
IS FH i 1 10.0249 6  KZFW
NEBE 4 9.45.09 1
MEF AR 2 10.03.45 7
4x100mR  REs REFFIE 3 43.36 5
AfRZE—EB 1
BHEX 3
FARK 2
4x400mR  REs R E1EF 1 3.2492 2
AR 3
RKE 3
FARK 2
AHEZR M2 34226 6
AL M1
R — M1
EHE= 4




TE Rk PNz REEE 1 DNS
e EE M2 6m48 10
B RS 3 6m82 6
© Y i NI 6 56m18 5
BHlLEL 3 49m83 9
N1 RBE BABIK 3 43m20 2 PB
=Bk PNz REFFHE 3 NM
RHEN 3 12m10 10 PB
EE Bk PNz 1 & KRIEN 3 3m20 4 PB
Ly FR 2R 4 3m50 3
+iERR R TRIRFER 4 DNF
100m (+0.5) 12.35 5
400m DNS
EfEsk  (-0.6) 5m41
7= Bk 1m75
AL 7m84
110mH DNS
A& DNS
EE Bk DNS
© Y DNS
1500m DNS
PR 4 39864 5
100m 12.77 7
400m 59.39 5
EEEk  (-0.8) 5m43 5
TE =Bk 1m70 4




Fa AL 6m56 6
110mH  (+0.6) 18.42 4
M 18m65 5
BBk 2m50 3
SelUE:3 32m00 5 PB
1500m 5.19.74 4
HER 5 4 5074 4 PB
100m (+0.5) 11.65 3
400m 54.16 3
EmER  (-0.2) 6m38 1 PB
TE =Bk 1m83 1
R AL 9m1l 1
110mH  (+0.6) 18.88 5
M 24m07 2
ek 2m20 5
SelUE:!e 4Tm82 2 PB
1500m 52233 5
| x7 [ @8 &5 @@ &% 2 ¥ EH WL HE |
100m F®  1#(-1.3) Wms s 3 13.33 3 Q
248(-0.9)  AEE(C=E 3 14.78 6
BB 1#8(+0.4) WMH PR 3 13.10 5 UB
1500m R RO F 3 5.22.28 3
800m Pz BARIET 2 23793 4
5000m R DR F 3 19.02. 6 PB
100mH P (+0.4) BTT 50 M2 15.19 2 PB
N —8 RES BT 5l M2 22m93 4 1




ESYE S RS E TN M2 2m20 6 1)
SIS 4 2m90 3
& RS Z TGN M2 28m74 3 )]
EE bk R figapae 3 1m40 6 PBxA
TE Rk Viza (+0.8) JRAFR 4 5m24 4
(+1.2) & R, 4 5m58 2
= X5 FH (ER) Z R FE i B EE
4x400mR  SRES AfRFR—EB 35469 3 ERESR

1
EE I B R 4
WM 1 3

AR 2




